Adda

24

7

CTET Paper 2 Memory Based Questions PDF - 09 January 2022 Shift 2

CTET-II CDP Memory Based Questions

Q1. Howard Gardner’s theory of Multiple
intelligence emphasize-
Ans: Unique abilities of each individual

Q2. In the context of Kohlberg’s stages of moral
reasoning, under which stage would the
given typical response of a child fall?

“Your parents will be proud of you if you are honest.
So you should be honest”

Ans: Good Girl-Good boy orientation

Q3. According to Jean Piaget, schema building
occurs as a result of modifying new
information to fit existing schemes and by
modifying old schemes as per new
information. These two process are known
as
Ans: Assimilation and Accommodation

Q4. Which of the following statements about
children would Vygotsky agree with?
Ans: Children learn through social
interaction with peers and adults.

Q5. Theamountand type of scaffolding to a child
would change depending upon the
Ans: Level of the child’s performance.

Q6. In the context of progressive education,
which of the following statement is true,
according to John Dewey
Ans: Students should be able to solve
problems themselves.

Q7.

Q8.

Q9.

Q10.

In a classroom, gender discrimination
Ans: May lead to diminished effort or
performance of the student

Creativity is usually related to
Ans: Divergent thinking

The stage in which child begins to think
logically about objects and events is
Ans: Concrete operational stage

According to Kohlberg, the thinking process
involved in judgement about questions of
right or wrong is called

Ans: Moral dilemma

CTET-II English Memory Based Question

Q1.

Q2.

Q3.

Q4.

Q5.

Comprehensible input includes-

Ans: Uses a variety of techniques such as
gestures, body language, pictures and
objects

What is meant by ‘i+1'?
Ans: Materials should be just slightly above
the learner’s current level of abilities

Operant conditioning  theory  was
propounded by-
Ans: Skinner

Which of the following implications cannot
be derived from piaget’s theory of cognitive
development?

Ans: Need of verbal teaching

Which of the following is the base of
remedial teaching?
Ans: Diagnostic test
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Q6.

Q7.

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Multilingualism is

Ans: Starting with mother tongue or home
language and move on to add more
langusges in school

Extensive reading is aimed at-
Ans: Reading for pleasure

CTET-II Mathematics Memory Based

Question

Corresponding sides of Two similar Triangle
are in the Ration of 1:2, if the Area of the
small triangle is 16 sq.cm, then the area of
the Large Triangle is -

Ans: 4sq.cm

Which of the following is not used for
teaching Place value
Ans: Geo Board

Find the compound interest if principle is
125000 /- and rate is 12 % for 3 years?
Ans: 3109

The average of 7 consecutive numbers is 20,
which is the largest of these number.
Ans: 23

(45*20/10+21)/3 =7
Ans: 1369

The product of 3xy2z and 4x
Ans: 12x2%y?z

7/9, 7,2,7/6, 7/5,7/11,7/4 arrange in
ascending order
Ans:7/11/7/9,7/6,7/5,7/4,7/2

If a variable takes discrete values a+4, a-3.5,
a-2.5, a-3, a-2, a+0.5, a+5, a-0.5 where a>0,
then the median of the data set is-

Ans: a-1.25

CTET-II Science Memory Based Question

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Q10.

How many images will be formed if you
stand between two mirrors positioned
parallel to each other in a trial room of a
garment shop?

Ans: Infinite

Identify the pair of materials that burns with
a flame
Ans: Camphor, Magnesium

The major reason for using Bakelite for
handles of pressure cooker is that
Ans: It is a bad conductor of heat

The vitamins which also act as anti-oxidants
are
Ans: A, C,and E

The part of human alimentary canal where
the complete digestion of fats takes place is
Ans: Small intestine

Caterpillars secrete fibre made of
Ans: Proteins

Chemicals  generally used as food
preservatives are
Ans: Sodium meta bisulphite and sodium

benzoate

SI unit of pressure is

Ans: Newton/meter?

Group which facilitates
collaborative learning effectively needs to
be

Ans: Heterogeneous and small

composition

The current in the bulb will stop flowing:
Ans: If the circuit is broken
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CTET-II Social Science Memory Based
Question

Q1. The first layer of earth on which we live is
known as
Ans: the crust

Q2. What type of dance is Bharatanatyam?
Ans. Classical dance

Q3. Indian Standard times is ahed of Greenwich

mean time by .....
Ans: 5 % hours

Q4. Which type of the following of forest
occupies the largest area in India-
Ans: Tropical Moist Decidious forest

Q5.

Q6.

Q7.

Q8.

What is the approximate time lag from
Gujrat to Arunachal Pradesh -
Ans: 3:2

The tropic of cancer does not pass through
which of the following states-
Ans: Odisha

Indian standard times is ahed of Greenwich
mean time by -
Ans: 51/2 hours

Article 19 related to -
Ans: To freedom of speech and expression
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